Year 2 Maths
Multiplication and division puzzles and problems
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Mrs Owen has some sweets.

She shares them equally between 10
tables.

How many sweets could each table
have?

Find as many ways as you can.

What do you notice about your
answers?

True or false?

Dividing by 10 is the same as dividing
by 5 then dividing by 2
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Cakes are sold in boxes of 10
Jack and Alex are trying to pack these
cakes into boxes.
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Jack says,
There are 5
groups of 10
Alex says,

I~
) &
There are 6
groups of 10

Who is correct? Explain how you know.
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Jack says,

I can work out 40 + 2
easily because | know
that 40 is the same as 4
tens.

Y,

This is what he does:

40+2=20

Is it possible to work out 60 + 3 in the
same way?
Prove it.

Is it possible to work out 60 + 4?
What is different about this calculation?
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Alex has 20 sweets and shares them

between 5 friends.

Tommy has 20 sweets and shares them
between 10 friends.

Whose friends will receive the most
sweets?

How do you know?
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You have 30 counters. *

How many different ways can you put
them into equal groups?

Write down all the possible ways.
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Amir has some counters.
He makes 5 equal groups. CE)

The amount he started with
is greater than 10 but less
than 35

How many counters could he have
started with?

How many will be in each group?
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| have 24p.
| divide it equally between 2 friends.
How much will they get each?

| have 24p in 2p coins.
How many 2p coins do | have?

Consider the two questions above.
What is the same and what is different?

Tommy and Annie have some counters.

Tommy shares his counters into 2 equal
groups.
He has 15 in each group.

Annie groups her counters in twos.
She has 19 groups.

Who has more counters and by how
many?
How did you work it out?
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Ron has shared some grapes equally
between two friends.

Ron'’s friends

Each friend receives fewer than 50
grapes.

Complete the sentences to describe the
number of grapes Ron started with.

He must have started with...
He could have started with...

He can't have started with...
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A party bag contains 5 sweets.
A jar contains 5 party bags.

Sweets.
ot

Ron has 75 sweets.
How many party bags will he need?

How many jars will he need?
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Use the number cards to make
multiplication and division sentences.

How many can you make?
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True or false?

12 is an odd number.

Prove your answer using concrete,
pictorial and abstract representations.

Explain each approach.

Tommy says that when he adds two
odd numbers together, his total will be

even.
Is he correct? &

Convince me.

What else can you find out?
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Whitney says,

| have added two
one-digit numbers.
My answer divides
into 2 equal groups.

What could Whitney's numbers be?
Is this the only possible answer?
Which numbers would not be possible?

Explain your answers.





Dtep——
Ireve 245 o has shoed sore grapes eaally
| e oty betwsen 2 rends | betwoen two frends.

How much ey gt eoch?

Irowe 245020 core.
How mary 25 con o have?

Corier o two custins shve.
Wt s and it Bcen?

Tommy nd A hare some coners.
Tormy shares s countrs 02 el

poss
Hehes 15 esch g

Ao s b coxmes s
Sheres Bgops

Who ks more s and by how
many?
How ey wrk tus?

Ron's frends.

Each iend receves fewe than 5O
sropes

Completeth sentences todescrie he
umber of grapes Ron started wih.

He must hve sared weh.
He coukd have stated it
Hocant hav sared wih.




